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48 ~50 °C 10 min pH 6~8,
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30 mL 3~4 kg 41 667 m? 28.7 ~
4~5d 15d 32.7¢ 7~10d 1 3
4~6
° N 30%
N DT 600 ~ 800 60
o DTM 500 7~10d
N N 1 2~3
o N o 20 500
° 2a 20 700 47%
° 600 ~ 800 7%
o 1 000 °
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11~12 °C . Lo
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35~40 C 1~2 Pseudomonas syringae pv. Lachrymans in cucumber and
h ° identification of molecular markers linked to resistance. Plant
26 20d Pathology 58 145-151.
o Kudela V Lebeda A. 1997. Response of wild Cucumis species
4.6 3 to inoculation with Pseudomonas syringae pv. Lachrymans.
800 ~ 1 000 2% Genetic Resources and Crop Evolution . 44 271-275.
500 5~7d 1 3~4 Kritzman G Zutra D. 1983. Survival of Pseudomonas syringae
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non-host plants. Phytoparasitica 11 2 :99-108.
e 100 . 40% 400 000 mg- L ppm
“%” o 2% 100 kg 1000 mg-L*
2 kg \98kg . 1 =400 000/1 000=400
. 700 50% 1 N
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